
��������	
���
��������
(Correlation Research)

#$. &�.'(��)*  ���+��
�
���'��,����
-�.�)���'���

�������	
���
�
������� 
������������������������	
������	�	 (Descriptive Research) +��� 
,��-��.����������	��/
01�23 
����������������	12�456���7�����	�,�����8�4�,�69��:�����;���<�
=>�� ? 1�3�,�1����1	�9�
=�� 
��7�9�
=�� �@/��.:	9�
=�� �	>����6������ 5����3�
�A��,�6B�6�>��
��5
7���
�6�,��/
�2	����2�������	5���@>�� ,��17����23B�6
�2	��/�@>��C�� �D�1�9��
�A3��=6� ��/����������	
=���	>���������	
���
�
������� ���1�������/	.�=�,�6 �@/�����/
����������	
���
�
������� 
5����	@/
�2	5=>�4��23

�/�'�$��	012(�34�*(���������	
���
���������
,�����6��23�/�@>��C�� �D�1�9��
�A3��=6�����������	
���
�
�������,� 4 ��/
5F� 7A� 

7������	 �.5�.>����	 �@/@��:</���7���
��������/��>��=�����12�
���=���������������	

���
�
������� �@/�����@7������	7>�
����/
�1��G
�
������� 5���23

1. 6���
���*(���������	
���
��������
�������	
���
�
������� 
�����/
01���������������	
������	�	 12��.>�9��:�7���
��������

�/��>��=�����=�3��=> 2 =����3�4� ,�����;���<�=>�� ? 1�3�1����1	�9�
=�� 
��7�9�
=��� �@/
�I=�����9�
=�� D5		�5�@���A3�J��
8�7�K 3 ��/��� 7A� (����  �/
�2	���	. 2520 �@/��
�2	�  
�=.
�����.
2523 �6��C��,� 1��
.�  ����
�. 2535 : 1-2)

1.1 �@�����7���
�2�	��6����� (Principle of Contingency) 12��>� [ ����;���<�,5 ? 
,�D@��234�>456
��5��3�
��
\	 ? �=>�/�2
�=.���<��A��12�
�������6��A�4�>��6�F456 
���=��18�,�6
��5 ]
=���	>��
�>� �8�����.=�����=>@/7���7��� ���
�2�	��6�����=�����=>�� ? 
�>� �/5����	.������
�=>���� ���9��:� ��	456 9�
�� ^@^ 
���=6�

1.2 �@��������
���5�>����� (Principle of Joint Occurrence) 12��>� [ ����;���<�
����	>�� 
��5��3�56�	���

����A��>�	 ? 
������/7�5�>�����;���<���3� ? �27���
���������� ] 5��
=���	>��
�>� 1.� ? 7��3�12�
��5�����
A��	>��52�>�����
�� 
���/
��4567/���52 �F�
5��>� ����>��
����
A��	>��52�>��
�����B@���
�� �27���
���������� ^@^ 
���=6�
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1.3 �@�����������B���>�� (Principle of Co-variation) 12��>� [C6�����;���<�,5 ? 

��5��3� 
�A���2���
�@2�	���@�,�=����������=����A��@�	=����� �F����/�2=������A�� ? 
�@2�	�=��
4�56�	 1�3�,�������B����A�B�B�� 
���F�/
�2	��>� =�����
�@>��23�27���
����������] =���	>��
�>� 
7��3���� ? 
���>������
A�
���	>��52 B@���
���F524�56�	 �=>,�@8�5��=>�4�
��@5����>��@� 
B@���
���F@5@�56�	 @��:</����23�F�/�@>��456�>� @��:</���
=�2	�=��
�����B@���
���2�
7���
����������
���=6�

5����3� ���
�.�456�>� �������	
���
�
����������3� 
������9��:�7���
��������/��>��=�����
=�3��=> 2 =����3�4�D5	��9�	�@�����7���
�2�	��6����� �@��������
��5�>����� �@/�@��������
���B���>�����

2. �)&�)8�
���*(���������	
���
��������
����@������A3�J�� 3 ��/�������������	
���
�
������� 18�,�6�������	456�8�4���b��


����.5�.>����	,����9��:�76�7�6�����	�������23 �@�	��/���5���23 (����  �/
�2	���	. 2520 �6��C��,�
1��
.�  ����
�. 2535 : 2-3) 

2.1 
�A��76����>� =������/4��6��12�
�2�	��6����� ��A�
���������� ,�����;���<�
=>�� ? 12�
��5��3�

2.2 
�A��76������������7���
������� (Pattern of Association) �/��>��=�����
=>�� ? ,�����;���<�12�
��5��3��>� �2@��:</
����	>��4�

2.3 
�A��9��:�7�������
�� ��A�7���
�6��6� (Strength of Association) �/��>��=�����
=>�� ? ,�����;���<���3� ? 

2.4 
�A��7�57/
� ��A��	���<�=������������A��@�	=�����=��������=����������
��A��@�	=�����,�����;���<�=>�� ? 12�
��5��3�

�/
�F�456�>��.5�.>����	�@��1�3� 4 ��/����23 456�8�4�
�>�����b��
17��7 ���2���=>�� ? 
D5	
\��/
19��7 ���2���1��
C�=�12��/,�6,�������
7��/���6���@
�A��=��78�C��,��.5���	�������	
5���@>��456�	>�������	 5����3��������	
���
�
�����������6����6��	>����5
�F�(
�����  ����	�. 2525 :
126)

3. ,��:;<*(�6�����������*(�3��+=�38�� > ?���������	
���
��������
,��������	
���
�
������� 
����7�D5 (Mercado) (D�=�  
����A��. 2529 �6��C��,� 1��
.�  

����
�. 2535 : 3-5 �@/��@��:<�  �������	. 2543 : 108-110) �@>���>� ���,�678��>� [7���
��������]
,���������	7���
��������/��>��=�������3� �/=6���/���,�6��� 
���/�2����;���<�����	>��
7���
��������/��>��=�������456
����
�=.
���B@��� +���7���
�������5���@>���2 3 @��:</ 5���23
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3.1 7���
����������
���=� (Symmetrical Relationship) 7A� 1.�7��3�12�=�����  A 

��5��3� =�����  B  �/
��5��3�56�	 �=>���
��5=�����  B  4�>
�2�	��6�����=�����  A  �=>���
���=�����
C  =���	>��
�>� ��/
19������2D��
�2	��8������� 
�A��
12	�
�5
>�������/
19�A�� (A) �@/�8����
7�4�>��6����
A��2�6�	  (B)  ���4�>
�2�	��6������8����D��
�2	��F456 �=>
���
���/�����/=.6� 
���
�.�
��� lm�	B�6��5���9��:�=>����� (C) +������������7���
��������23�
5�4565���B�0��12� 1

�B�0��12� 1  �
5�@��:</7���
����������
���=� (Symmetrical Relationship)

3.2 7���
����������4�>
���=� (Asymmetrical Relationship) 7A� =�����  A  
���

�
�=.,�6
��5=�����  B  1.�7��3�12�  A  
��5��3�  B  �/=6��
��5��3�56�	 �=>���
��5���=�����  B  4�>
���

�
�=.,�6=�����  A  
��5��3� =���	>��
�>� ,����15@��7��3������������
�2	��>� C6�,7�=��C�� (A) 
�/456��������@ (B) +������������7���
��������23�
5�4565���B�0��12� 2

�B�0��12� 2  �
5�@��:</7���
����������4�>
���=� (Asymmetrical Relationship)

C

A B

A B
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3.3 7���
����������=��D=6 (Reciprocal Relationship) 7A� 1.�7��3�12�=�����  A  
��5��3�
=�����  B  �F�/
��5��3�56�	 ,�18����
52	����1.�7��3�12�=�����  B  
��5��3� =�����  A  56�	 @��:</�23

�2	��>� ��/������
��1�� (Two-Way Process) =���	>��
�>� ���
@>�����
=���
�F=�/�>�	,�67�

��5���
�2	���6�����3� (A) �@/���12�
��5���
�2	���6�����3��F�/
���������,�67�=�3�,�
@>����
=���
�F=
�����3�56�	 (B) ����;���<�1��56�����9��:��8��������2@��:</7���
�����������23 +���������
���7���
��������23�
5�4565���B�0��12� 3

�B�0��12� 3  �
5�@��:</7���
����������=��D=6� (Reciprocal Relationship)

���@��:</���7���
�������1�3� 3 @��:</5���@>�����@6��6��=6� �/
�F�456�>�@��:</12� 2 

���7���
�������12�
����C�����	,�
���
�=.�@/B@456 +���
>��,�K>@��:</
�>��23�/
��5��3�,����
����	
���15@�� 
>��,��������	
���
�
���������/�2�@�	��<2
�>���� 5��
�>� ,�
�A��������
7��/���
C5C�	 (Regression Analysis) �����
7��/���

6�1�� (Path Analysis) �@/�����
7��/����.�/5�� 
(Multi Level Analysis ��A� Hierarchies Linear Model) 
���=6� 5����3�������,�678��>�=������������A�
�@�	=�����
>�B@=>��2�=������������A��@�	=�����456 
>��7���
�������,�@��:</�A�� ? �/,�6 78��>�
=������������A��@�	=����� �27���
���������A�
�2�	��6������2�=�������A��@�	=����� 
���=6�

4. ���+=,6���
���68����=�<��'��A�
��������*(���������	
���
���������

�A�������������	
���
�
������� 456��b��
17��7 ���2���1��
C�=� 
8����������
7��/���

�6���@��3����	>�������	 �@/456��5���212�,�6�����	7���
��������/��>��=�����=>�� ? 
�2	��>� 
7>�
����/
�1��G
�
�������� (Correlation Coefficient) +����27>��	�>�/��>��  -1 ��� 1  5����3�,�����6��23 
�/�@>��C�� @��:</���7>�
����/
�1��G
�
��������12����7���
��������/��>��=������>�� �@6����
�/�@>��C�������@7������	

A B
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4.1 @��:</���7>�
����/
�1��G
�
�������12����7���
��������/��>��=�������>�456�

��� 2 @��:</,�K> ? 7A� ��<2�27���
����������� �@/4�>�27���
���������� (���5�  ���@�01�2�. 2529
�@/D�=�  
����A��. 2529 �6��C��,� 1��
.�  ����
�. 2535 : 6-7) 
 4.1.1 ��<2�27���
������� �2 2 @��:</ 7A� �27���
�����������	>��
����<� �@/ 
4�>
����<�

1) ��<2�27���
�����������	>��
����<� �2 2 @��:</
�>���� 7A� �2�
7���
�����������	>��
����<�,�1����� 7>�
����/
�1��G
�
���������/�27>�
���  1  �@/�2�
7���
�����������	>��
����<�,�1��@� 7>�
����/
�1��G
�
���������/�27>�
���  -1 
 2) ��<2�27���
�����������	>��4�>
����<� �2 2 @��:</
�>���� 7A� �2�
7���
������������	>��4�>
����<�,�1����� 7>�
����/
�1��G
�
��������/�27>��/��>��  0  ���  1  �@/C6�
�27���
�����������	>��4�>
����<�,�1��@� 7>�
����/
�1��G
�
��������/�27>��	�>�/��>��  0  ���  -1 
 4.1.2 ��<24�>�27���
���������� ,���<2�237>�
����/
�1��G
�
��������/��>���
=������/�27>�
���  0

4.2 �����@7������	7>�
����/
�1��G
�
������� ���7>�
����/
�1��G
�
��������
,��6�  4.1  
�A���8�4�,�6,������@7������	���7���
��������/��>��=�������3� 
��=6��
�/��5�/���

���>� 7>�
����/
�1��G
�
���������3�4�>456���7���
���
�=.
���B@���

��4� 5��12�
�@>�����@6�,�����6�12�B>���� 5����3������@7������	7>�
����/
�1��G
�
������� ����/��@
7������	,� 2 @��:</,�K> ? 7A� ��@7������	,�@��:</���1�91��7���
������� �@/,�
@��:</����/5��7���
������� 

4.2.1 �����@7������	,�@��:</������1�91�����7���
�������� 5��456�
�@>�����@6��>� ���12�=����� 2 =�� ��A������>� �27���
����������1�3���<2
�����������	>��
����<�
�@/4�>
����<� 7>�
����/
�1��G
�
��������/�27>��	�>�/��>��  0  ���  1  ��A�  0  ���  -1  +����
5�,�6
�F�
1�91�����7���
����������=�����
�>�

C6�7>�
����/
�1��G
�
�������
������ ��A������>�  0  
���/��@7������	�>� 
C6�=������������A��@�	=��
�@2�	���@�4� �2�=������������A��@�	=������F�/
�@2�	���@�=��
4�56�	 =���	>��,���<2 2 =����� 
�>� C6�7>�
����/
�1��G
�
���������/��>��7/���
�� 2 �������
���
�2	��@.>�������2�7>�
�6�,�@6  1  �F�
5��>�=�����7A� 7/���
�� 2 ���� �27���
����������,�1�����
+������	7����>�� ���
�2	�12�
��4567/���
��,���������� �/4567/���
��,��2����������56�	 ��A�
C6�4567/���=�8�,���������� �F�/4567/���=�8�,��2����������56�	
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C6�7>�
����/
�1��G
�
�������
�6�,�@6  0  ��A�
1>����  0  �
5��>�=�����
�@>���3�
4�>�27���
���������� ��A�4�>���1�91�����7���
������� =���	>��
�>� ��<27/���
�� 2 �������
���
�2	��@.>�������27>�
�6�,�@6  0  ��A�
1>����  0  �F���	7����>� 7/���
�����������������
�2	� 
4�>456�23,�6
�F��>�7/���
���2�����������/
����	>��4�

C6�7>�
����/
�1��G
�
�������
���@� ��A��6�	��>�  0  �F�
5��>�=�����
�@>���3�
�27���
�������,�1���@����� ��A�=������������A��@�	=�����
�@2�	���@�4� �2�=������������A�
�@�	=������F
�@2�	���@�4�,�1��=���6�� ��A����B�B������
�� =���	>��,���<2 2 =����� 
�>�
7/���
�� 2 ����������
�2	��@.>�������27>�
�6�,�@6  -1  �F���	7����>� ���
�2	�12�4567/���
��
,���������� �21>�1���>��/4567/���=�8�,��2���������� �@/���
�2	�12�4567/���=�8�,���������� �F�2�
1>�1���>��/4567/���
��,��2���������� 
����=6�

4.2.2 �����@7������	,�@��:</����/5��7���
������� �����@7������	
,�@��:</�/5����A����5���7���
��������/��>��=�����12�9��:���3� �/�8�7>�
����/
�1��G
�
��������
����@7������	,�@��:</���7>�7����������12�=�������/18��>����� D5		��8�@��
��7>�

����/
�1��G
�
�������� �@6�18�
���
����
+F�=�56�	���7�<56�	  100  =���	>��,���<2 2 =����� 
�>�
7/���
������7<�=9�
=���@/��1	�9�
=��������
�2	��@.>������ �27>�
����/
�1��G
�
��������

1>����  0.70  5����3�7����������12�
��5���=������=>@/=����/18��>����� (Common Variable) 7A�
(0.70)2 x 100 = 49%  +������	7����>� �����/��	���7/�������7<�=9�
=���@/������1	�9�
=���
=>���F�27>��>�����  49% ��A�7���
����C,����
�2	�����7<�=9�
=���@/��1	�9�
=��������
�2	�
���B���>������6�	@/ 49

��<0����������	
���
���������
�������	
���
�
������� �2��/��������A���3�=�����58�
����������	7@6�	����������	1���4�

�=>�F�2��	@/
�2	512�
������
\��/ +����/456�@>��C��=>�4� 1�3��23��/����������	
���
�
�������     
�2��3�=��5���23

1. ����B�
�&=CD
���������  +,<���3�2�
1E(	�1E(�
�-K���������	
���
�
��������/�2@��:</
\��/ �@>��7A� �-K������	����/�23,�6
�F�C��

7���
��������/��>��=�����12��/9��:� +�������2=�3��=>7���
��������	>���>�	 (Simple Correlation) 
4���C��7���
��������@�	=����� (Multiple Correlation) =���	>���-K���������	
���
�
��������
�	>���>�	 
�>� 7���=�3�,�
�2	����B@���
�2	��27���
������������A�4�> �/5�����9��:�������4���A�
4�>4�
@A��=�3�
������������A�4�> ,���	B�6,�K>��	.���7����8�
������������A�4�> 
���=6� 
>����<2
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=������@�	=����� 
�>� 7�����6�A3�J��������
�2	� 
�=7=�=>�����
�2	� 7���=�3�,�
�2	� ���
�����7���
�2�7���
����������B@���
�2	�������
�2	���A�4�> �-���	56����������� ���456��> �.7@��� ����/��<
�����
19=�5=��B@ �����64��-K�� �.�
��7 �@/���������.����58�
������ �27���
����������
��/
�1��B@���D��
�2	���A�4�> 
���=6�

����� ���9��:�7���
��������/��>��=�����,�1��
��7�9�
=�� ����/9��:�7���
��������
�/��>��=������@�	=�����4���6����� 1�3��23
���/�>�
�=.���<�,5 ? 12�
��5��3�,�1��
��7�9�
=����3�
�/
�2�	��6������@�	=����� �@/���9��:�����/9��:�7���
��������,�
���
�
�=. (Causal Relation)
D5	���9��:�7���
�������
���
�
�=.�23�/�2=�����=6��@�	=�� �@/=�����=�� 1 =����A��@�	=���F456�

�����/
5F��-K���������	5���@>�� ����/D	�4�
�>���=�3��A��
�A��� �F����/=�3��A��
�A���456�
5��=���	>��

=���	>��12� 1 :
�-K���������	 : 7���=�3�,�
�2	� �27���
����������B@���
�2	���A�4�>�
�A��
�A��� : ���9��:�7���
��������/��>��7���=�3�,�
�2	����B@���
�2	�������
�2	���3�

.................. ,�
�=�A3�12����9��:� .................. ������5 ..................

=���	>��12� 2 :
�-K���������	 : 7�����6�A3�J��������
�2	� 
�=7=�=>�����
�2	� 7���=�3�,�
�2	� ���


�����7�� 
>�B@=>�B@���
�2	�������
�2	���A�4�> ����6�	
�2	�,5
�A��
�A�������	 : ���9��:��-���	12�
>�B@=>�B@
��I1��G1�����
�2	�������
�2	�..................

����A��
�A���12�
�2	� [.................. ] 4�6��3� 
�A��,�6�������	��5��3� �@/
����C18�4560�	,=6�
7>�,�6�>�	 ������ �@/
�@�12�
���/
� 7���8���5�@.>���/����
�y����	 �@/
C��0�������/����

�y����	4�656�	 5��=���	>��12� 1 12��@>���� �A��
�A�������/
����>� [���9��:�7���
��������/��>��
7���=�3�,�
�2	����B@
��I1��G1�����
�2	�������
�2	���3����	�9��:��z12� 3 ,�
�=�A3�12����9��:�

.���1�� 
�= 1] 
���=6� �@/�A��
�A���,�=���	>��12� 2 ���
����>� [���9��:��-���	12�
>�B@=>�B@
��I1��G
1�����
�2	�������
�2	���3����	�9��:��z12� 3 ,�
�=�A3�12����9��:�
.���1�� 
�= 1] 
���=6�

�	>��4��F=��,����9��:�7���
��������/��>��=����� D5	
\��/��<2���9��:�=�����
�@�	=�����,�
���
�
�=.��3� ����2���9��:�=�����12�
>�B@1�3�1��=�� �@/�6��456 
�2	��>� [Path 
Analysis] ���9��:�,�@��:</��.�/5��
�2	��>� Hierarchical Linear Model : HLM ���1�3����9��:�
7���
�������,�@��:</12�4�>
���
���

6�=�� (Curvilinear Regression) 
���=6�
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2. ����B�
�&��3F)=�<��6�*(��������� 
��=C.��/
�7�����������	
���
�
������� �/�	�>,������@��12��@>����  3  ��/��� 7A�

1) 
�A��9��:��>��2=������/4��6��12�
����������
2) 
�A��76������������7���
��������/��>��=�����=>�� ? �>��2@��:</
����	>��4�
3) 
�A��9��:��/5��7���
��������/��>��=�����=>�� ? �>��2����6�	
�2	�,5

�������23 ���9��:�,�@���:</�����=��18���	 ��A�=���	���<�12�52 �@/
�6��
����
�	���<�18���	=�����45656�	

3. ���$G�:�	(���� ��������'HE	�HE��*4(�+,<����B�
�&��(0+��6�&?����������
,���3�=���23 B�6����	�/=6��9��:���7�7�����6����@����� 1I:{2=>�� ? �@/�������	12�
�2�	��6��


�A��,�6456�6���@12��/D	�4�
�>����7���7�5,��������	�>� �-K���������	12��/9��:� �@/��78�=����3�
�2=�����,5�>��/
�2�	����������6�� ������7���
��������>��/
������,5 �����3����7�5
��=�����
12��/9��:��@/
�6��7���
��������/��>��=����� D5	
�2	�
������0��7���
��������/��>��=�����
+���
�2	��>� ����7���7�5,��������	 5��=���	>��

1) �������	
�A��� [���9��:��-���	12�
>�B@=>���/
�1��B@�����/���7.<0��0�	���

C��9��:� 
����5
8��������
�=�A3�12����9��:�
.���1�� 
�= 1] (���/  ���/��6�. 2549 : 1-5) �2����
7���7�512��
5�7���
��������/��>��=�����=6����=�����=��5���B�0��=>�4��23

(12��� : ���/  ���/��6�. 2549 : 105)

 1. �-���	56���/����/���7.<0�����9��:�
     1.1 ���9��:��@/
=�2	����
     1.2 �������B���/���7.<0�����9��:�
     1.3 ����8��B������/���7.<0�����9��:�4�,�6�
     1.4 ���=���
���@/1�1��7.<0�����9��:�
     1.5 �����b���@/������.�7.<0�����
C��9��:�

1.6 ���
=�2	���������/
��������7���0�	���
2. �-���	56�����������
     2.1 56��0��/B�6�8����B�6������
  2.2 56����b�������7����       

     2.3 56���.7@���
     2.4 56�����18����
���12�

2.5 56������/��<

��/
�1��B@�����/���7.<0��0�	���

3��+=�34�
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2) �������	
�A��� [D�
5@7���
�������
���
�=.B@����-����	12�
>�B@=>����
�2	���6
�	>���27���
.� ������
�2	����	�9��:��z12� 2] (������<  ��
9:. 2548 �6��C��,� 
8�������
@�������

0����9��:�. 2548 : 73)

12��� : 
8�������
@�������
0����9��:�. 2548 : 73

4. ���3�2����3�I����������
,���3��23 
�����3�=��12�B�6����	�/=6���8���5
��=�J���������	,�6��5
�� +���
��=�J���F�

7A� ���7�57/
�78�=������������	4�6@>����6��	>���2
�=. �2B@ D5	�2�@����� 1I:{2 �@/B@���
����	������ =���	>��
�>� ��<29��:��������	
�A��� [���9��:��-���	12�
>�B@=>���/
�1��B@�����/���
7.<0��0�	��� 
C��9��:�
����5
8�������
�=�A3�12����9��:�
.���1�� 
�= 1] 
��=�J���25���23

1) �-���	56���/����/���7.<0�����9��:��@/�-���	56����������� �27���
�������1�����
�����/
�1��B@��������/���7.<0��0�	���

2) �-���	56���/����/���7.<0�����9��:� �@/�-���	56�������������>�����
>�B@=>�
��/
�1��B@��������/���7.<0��0�	���

Happy
(7���
.�)

Study
(���
�2	����
��)

Student
(@��:</���
�2	�)

Parent
(@��:</�>���> 

B�6��7���)

Friend
(@��:</
�A���)

Teacher
(@��:</7��)
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3) �-���	56���/����/���7.<0�����9��:� �@/�-���	56����������� 
����C�	���<�
��/
�1��B@��������/���7.<0��0�	���456�

4) 
�6��
�����	���<�12�52,����18���	��/
�1��B@�����/���7.<0��0�	���456�

>����<2�������	
�A��� [D�
5@7���
�������
���
�
�=.����-���	12��2B@=>����
�2	���6

�	>���27���
.� ������
�2	���3����	�9��:��z12� 2] �2
��=�J��5���23
1) @��:</�>���>B�6��7��� @��:</���
�2	� @��:</
�A���,��@.>� @��:</7�� �@/���
�2	�

���
�� �2��1���@1��=��=>����
�2	���6�	>���2�7���
.�
2) @��:</�>���>B�6��7��� �2��1���@1��=���@/1���6��=>����
�2	���6�	>���27���
.�

D5	�2��1���@1���6��
>�B>��1��56��@��:</���
�2	�
3) @��:</
�A���,��@.>� �2��1���@1��=���@/1���6��=>����
�2	���6�	>���27���
.� D5	�2�

��1���@1���6��
>�B>��1��56��@��:</����
�2	�
4) @��:</7��� �2��1���@1��=���@/1���6��=>����
�2	���6�	>���27���
.� D5	�2��1���@

1���6��
>�B>��1��56��@��:</���
�2	� �@/56�����
�2	����
��
5) ���
�2	����
�� ��1���@1��=���@/1���6��=>����
�2	���6�	>���27���
.� D5	�2�

��1���@1���6��
>�B>��1��56��@��:</����
�2	�
6) D�
5@7���
�������
���
�
�=.����-���	12��2B@=>����
�2	���6�	>���27���
.� �27���


�57@6������6���@
�����/���:� �	�>,�
�<}�52�
5. ���((�+00	�1E(
�6B�3(0��������
,���3��23 �2���3�=��,����58�
������ 5���23

5.1 ����8���5��/����
�y����	 �@/�@.>�=���	>��
�������	
���
�
�������,�6�@�����
@A��=���	>��
�>�
52	�����������	1���4� +������
@A��

�@.>�=���	>���/�2��3�=��12�
8�7�K 7A� 9��:��.5�.>����	�������	 �8���5��/����
�y����	 �8���5
���5�@.>�=���	>�� �8���5���2
@A���@.>�=���	>�� �@6�18����
@A���@.>�=���	>��=��12��8���54�6�

����8���5���5=���	>�� 
���
�A���12�
8�7�K��� ���
C�=�456�	�	��7�576������2�8���5
���5=���	>��
�A��,�6456�8����=���	>��12�
���/
��@�	���2 
�>� ���,�6=����
8�
�F���� 
7��+2� �@/
������� (Krejcie & Morgan) =���� 1�D�>  	���
�> (Taro Yamane) ,�6
�=����78���< ,�6�6�	@/ �@/,�6�
�8����=����� 
���=6� D5	
\��/�������	
���
�
���������3� ��<212��2���9��:�=������@�	 ? =����� 
B�6����	����8���5���5=���	>����/��< 15 � 30 
1>����=�����


8��������
@A���@.>�=���	>����3� 
�A���8���5���5�@.>�=���	>���@6� B�6����	�F7��
@A��
���2�12�
���/
� +�������/
������2,�61I:{27����>��/
��� (Probability Sampling) +���
������212�,�6��>�	
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=���	>���=>@/��>�	�2D���
456���
@A��
1>���� +���
�2	��>� ���2
.>�=���	>�� 
�>����2
.>��	>���>�	 (Simple
Random Sampling) ���2
.>��	>��
����/�� (Systematic Random Sampling) 
.>������>���3� (Stratified
Random Sampling) ���2
.>����
����@.>� (Cluster Random Sampling) �@/���2
.>�����@�	��3�=�� 
(Multi-stage Random Sampling) �	>��4��F=��,����7��3� ���
@A��,�6���212�4�>,�61I:;27����>��/
���
(Non-Probability Sampling) +���
������212��=>@/��>�	=���	>���2D���
456���
@A��4�>
1>���� B
����
���2
.>�,���<212���/����
�y����	+��+6������@/�@���@�	 +������2���
@A��=���	>�����4�>,�6�
1I:;27����>��/
����2�@�	���2
�>�
52	���� 
�>� ���2�
@A��������
��K (Accidental Sampling) ���2
@A��
���D7�=� (Quota  Sampling) ���2
@A�� ���
��/�� (Purposive Sampling) �@/���2
@A��=��
/5�� 
(Convenience Sampling) 
���=6� 1�3��23���
@A��=���	>��5���@>�� B�6����	�/=6���.>�,�6456=���	>��12�
���
=���1�12�52�����/���� +������58�
������ ,�6456�@.>�=���	>��12�52 �/
�����-���	�	>�������12��/�>�	,�6�
456�6���@12�
�A��CA�456�

5.2 ���
�6���@/��b��
7�A����A�
�F��������6���@
,���3��23 B�6����	�/=6��
�6��
7�A����A��@/��b��
7�A����A�
�F��������6���@,�6
���


7�A����A�12��27.<0�� 
����C��5=�����=>�� ? 12��/9��:�4567���7@.�1�3���5 +������
�6���@/��b��

7�A����A�����	,�6�27.<0����3� �2��3�=���@�� ? 5���23

1) 9��:��.5�.>����	����������	 �������7�5 =����� �@/�����	��=�����
����������	 ���1�3�9��:�
��
��=>�� ? 12�
�2�	��6��

2) �8���5����D7��
�6�����
7�A����A�����	�=>@/���512��/,�6� +������
���
\���
52	���A��@�	\��� ��3��	�>���@��:</=�����,��������	

3) 	��>��
7�A����A�=������D7��
�6��12��/��5
4) ,�6B�6
�2�	���K=���
��7���
�57@6�����D7��
�6��12��8���5 ���1�3�

7���
���/
�������,�60�:� �@/��7���/���=>�� ? ���
7�A����A�����	 +���,���3��23��	�
�2	��>� 
��7>� IOC : Index of Item Objective Congruence 

5) ������.�
7�A����A�,�6
����<�=���6�

����/���B�6
�2�	���K�@6������
���
\���

6) �8�
7�A����A�����	\���������.�4�15@��,�6����@.>�=���	>�� 
�A����7.<0�� 
+���,���3��23���
7�A����A�
������
��C��12��2@��:</
�����=��
>����/��<7>� �/��7>��8����
�8���� �@/7���
�A������ (7���
12�	� :Reliability) ���
7�A����A�456 �=>C6�
7�A����A�
������15
��
�����7>�7���	���>�	 �8�����8���� =>������3������7.<0��56��7���
�A��������A�7���
12�	� 1�3��23
,���3�=���23�/=6����b����
7�A����A��27.<0��=��
�<}� 
�>� ���
��C�� 7.<0��12�
����8����
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�8������	�6��	>���6�	 0.20 ��3�4� 7���
�A��������A�7���
12�	� 7���/�27>��	>���6�	 0.70 
8�����
���15
�� 7���	���>�	�27>���/��< 0.20 � 0.80 �8�����8�����27>� 0.20 ��3�4� �@/7���
�A������
7���/�27>� 0.70 ��3�4� 
���=6�

7) 
�A����b��
7�A����A�4567.<0��=��
�<}�12��@>�����@6� ����8�4�,�6,����

�F��������6���@=>�4�

5.3 ����8���5���2���
�F��������6���@����	
,���3��23B�6����	�/=6������B����
�F��������6���@,�652 D5	
\��/�����/
�����

����@.>�=���	>��12�
@A���4�6�@6�,�652 �@/�����212��/,�6�@.>�=���	>��,�67����>���A�,����,�6�6���@
�	>������,� ��/�������������	
���
�
������� 
����������	12��2=������@�	=����� �8�����6�78�C��
���
7�A����A� ��A��8�����.5���
7�A����A��/�����>��������	���5�A�� ? ���B�6����	4�>�/��5�/���
��A�����B�4�>52 �F���18�,�6�@.>�=���	>��4�>,�67����>���A�
1>�12�7�� B@�������	��6�>��/��b��

7�A����A����	>��52�@6��F���7@�5
7@A���456
�>�
52	����

5.4 ������������2�����
7��/���6���@
,���3��23B�6����	�/=6��58�
�������8���5�@/
@A�����2�����
7��/���6���@12�
���/
����

@��:</=�����12�9��:� D5	
\��/�������	
���
�
������� �/�2���2���1��
C�=��@�	���212��/
@A��,�6 
=�3��=>7>�
C�=��A3�J����C��
C�=����3�
�� ��1� C6�9��:�=�����12��6���@�	�>,���=�������KK�=�1�3� 2 =�� 
���,�6
C�=��12�
�2	��>� Chi-Square �6���@�	�>,���=��
�2�	����5�� 2 =����� ���,�6 Spearman Rank 
Correlation �6���@�	�>,���=�����=�0�7��3���A���=����=��
>�� 2 =����� ���,�6 Pearson Product
Moment Correlation 
���=6�

�	>��4��F=���������	
���
�
�������,��-��.�������/9��:�=������@�	=�����12��6���@
�2�@�	@��:</ 5�����3��������	
���
�
��������12�9��:��@�	=������/,�6
C�=���3�
�� 
�>� Multiple
Regression , Path Analysis , Hierar chical Linear Model (Multi Level Analysis) Logistic Regression
+���B�6����	�/=6��9��:�
�A���4� ,����,�6
C�=�
�@>��23�	>��C>���16 �@/�-��.����2D��������
7��/���
1��
C�=� 
�>�  SPSS  LISREL �@/ HLM �>�	,������
7��/����@/
/5�������3�

�����3�=�����������
�A��58�
������,�645678�=������	5���@>�� �/
�F��>�B�6����	�/=6��
�2�7�����C2��C���	>�����,���/������
�A����78�=���������	5��12��@>���� ����/18�,�6B@�������	
45678�=��12�
�A��CA�456�

6. �����&'B�/6����������
,���3��23B�6����	�/=6��58�
������
�A��,�6���58�
����������	��5��3� D5	���
�2	�
���D7���������	

+������
�2	�
���D7���������	���	>���A�D7���������	���
����<� +�����	�
�2	�
��� 3 �1 
���=6�
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7. &B�	�����������3��/6����������'HE�B�
�&M�4� 
�>� �����b��
7�A����A�����	 ���
�F�
�������6���@ �@/��
7��/���6���@

8. &B�	��������)=+,<	*H�������������O0�0��0P�;�� ,���3�=���23 B�6����	�/=6��
�2	� 
��	����������	\���
����<� D5	
>��,�K>�/��	�
�2	�
��� 5 �1

�����3�=��1�3���5 �/
�F�456�>����58�
����������	
���
�
���������3� �/�2��3�=��D5	
0������@6� 
��A���������	D5	1���4� �=>�/�2�.5
�6�12�
8�7�K 7A� ���7�5
��=�����12��/9��:�
�A��

�6��
�������7���7�5,��������	 +����/=6��9��:�1I:{2�@/
��
���������	12�
�2�	��6��
����	>��52�

3��(�8����������	
���
���������
�������	
���
�
������� �2
����8������� B�6
�,�
����C9��:�456�����@>�
�2	���6=>�� ? 


�>� www.thaiedresearch.org , www.kku.ac.th , www.watpon.com ^@^ �	>��4��F=��,��17����23
�/	�=���	>���������	
���
�
�������12���	�,�6
���������,����18���1	��������/5�����KK�D1 �@/
���KK�
�� 5���23

3��(�8���������� 1 :
�������	���  ���/  ���/��6�  
�A��� ���9��:��-���	12�
>�B@=>���/
�1��B@�����/���7.<0��

0�	������
C��9��:� 
����5
8�������
�=�A3�12����9��:�
.���1�� 
�= 1, 2549.
�������	7��3��23�2��=C.��/
�7� 
��=�J�� ����7���7�5 ���258�
����������	 �@/B@�������	

5����	@/
�2	5=>�4��23
��3F)=�<��6�*(���������

1. 
�A��9��:��-���	
�2�	���������/���7.<0�����
C��9��:� 
����5
8�������
�=�A3�12�
���9��:�
.���1�� 
�= 1 ,��-���	56���/����/���7.<0�����9��:� �@/�-���	56�����������

2. 
�A��9��:���/
�1��B@��������/���7.<0��0�	������
C��9��:� 
����5
8�������
�=
�A3�12����9��:�
.���1�� 
�= 1

3. 
�A��9��:�7���
��������/��>���-���	56���/����/���7.<0�����9��:� �@/�-���	56��
��������������/
�1��B@��������/���7.<0��0�	������
C��9��:� 

4. 
�A��9��:��/5�����
>�B@����-���	56���/����/���7.<0�����9��:� �@/�-���	56�� ���
������=>���/
�1��B@��������/���7.<0��0�	������
C��9��:�

5. 
�A��76���=���	���<�12�52,�����	���<���/
�1��B@�����/���7.<0��0�	������

C��9��:�

6. 
�A��
�6��
�����	���<���/
�1��B@�����/���7.<0��0�	������
C��9��:�
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���3�I��?���������
1. �-���	56���/����/���7.<0�����9��:� �@/�-���	56����������� �27���
��������

1����������/
�1��B@��������/���7.<0��0�	���
2. �-���	56���/����/���7.<0�����9��:� �@/�-���	56������������>�����
>�B@=>�

��/
�1��B@��������/���7.<0��0�	���
3. �-���	56���/����/���7.<0�����9��:� �@/�-���	56����������� 
����C�	���<��

��/
�1��B@��������/���7.<0��0�	���456�
4. 
�6��
�����	���<�12�52,����18���	��/
�1��B@�����/���7.<0��0�	���456�

��(0+��6�&
����7���7�5,����9��:��-���	12�
>�B@=>���/
�1��B@�����/���7.<0��0�	��� 

���
C��9��:� ,��������	7��3��23 B�6����	�8���55���B�0��12� 6 

�B�0��12� 6 �
5�����7���7�5,����9��:��-���	12�
>�B@=>���/
�1��B@�����/���7.<0��
0�	��� ���
C��9��:�

���H&B�	������
�������	7��3��23 ,�6�/
�2	����2����	
���
�
������� (Correlation Study) +���
�����/
01�����������

����	
��������< B�6����	45658�
������=����3�=�� 5���23

 1. �-���	56���/����/���7.<0�����9��:�
     1.1 ���9��:��@/
=�2	����
     1.2 �������B���/���7.<0�����9��:�
     1.3 ����8��B������/���7.<0�����9��:�4�,�6�
     1.4 ���=���
���@/1�1��7.<0�����9��:�
     1.5 �����b���@/������.�7.<0�����
C��9��:�

1.6 ���
=�2	���������/
��������7���0�	���
2. �-���	56�����������
     2.1 56��0��/B�6�8����B�6������
     2.2 56����b�������7����       
     2.3 56���.7@���
     2.4 56�����18����
���12�
     2.5 56������/��<

��/
�1��B@�����/���7.<0��0�	���

3��+=�34�

3��+=�3��
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1. ����B�
�&=�<
���+,<�,)8�3��(�8��
1.1 ��/����
��/����,��������	,�7��3��23 7A� 
C��9��:�,�
����5
8�������
�=�A3�12����9��:� 
.���1�� 


�= 1 �8���� 344 ��>� D5	��/����
�y����	 7A� B�6��������A�B�6���:����,�=8����>� �8���� 344 7� �@/
�����6�������/���7.<0�����9��:� �8���� 344 7� ���1�3�
�3� 688 7� 
C��9��:� 344 ��>�

1.2 �@.>�=���	>��
B�6����	�8���5�@.>�=���	>��D5	,�6=�����8���5���5=���	>�� 
7��+2 �@/ ������� (Krejcie 

and Morgan) (	.1���:�  ��	���<��. 2543 : 75) 12��/5��7���
�A������ 95% 456����5����@.>�=���	>�� 7A� 
C��9��:�
�8���� 200 ��>� �8���5���5����@.>�=���	>��,��=>@/�8�
0�D5	���78���< 
�5
>�� 
�A��,�6456�@.>�=���	>��7��
=���8���� 200 ��>� D5	B�6����	�8���5B�6,�6�6���@
C��9��:���>�@/ 2 7� ���B�6,�6�6���@1�3�
�3� 400 7� 
��/���56�	B�6������ 200 7� �@/�����6������/���7.<0�����9��:� 200 7�

1.3 
7�A����A�12�,�6,��������	 7A� ���
��C�� 2 \���
\���12� 1  
������
��C�� 
8�����B�6�������@/�����6������/���7.<0�����9��:� 

�27>�7���
�A������ 0.9871
\���12� 2  
�����������6���@
�2�	������/
�1��B@�����/���7.<0��0�	������


C��9��:�12���/
���D5	 
�9. ��A��.77@ ��A���>�	���0�	���12� 
�9. ������ D5	,�6
C��9��:� ����B@
�����/
��������/���7.<0��0�	������
C��9��:�12���/
���D5	 
�9. ��A� �.77@ ��A� ��>�	���
0�	���12� 
�9. ������

1.4 ���
�F��������6���@
���9��:��-���	12�
>�B@=>���/
�1��B@�����/���7.<0��0�	������
C��9��:� 
����5 


8�������
�=�A3�12����9��:�
.���1��
�= 1 7��3��23 �2@8�5����3� �@/���2�58�
������
�F��������6���@ 5���23
1.4.1 �6���@1.=�	0���� (SecondaryData) 
����6���@12����������
��
��=>�� ? �@/

B@���1���������12�
�2�	��6�� 
�>� ����
A� �17��� ��	�������	 �@/
C�=��6���@=>�� ? D5	��������� ��
�.5 
�@/��>�	���12�
�2�	��6�� 
�A��,�6��/�������8���5�������7�5,��������	

1.4.2 �6���@�J�0���� (Primary Data) 
����6���@0�7
���58�
������
�F��������6���@
56�	 ���
��C��\���12� 1 �@/\���12� 2 ,��>��
5A�� ����7� C��
5A�� �.�0������ �.9. 2549 �2@8�5����3����
58�
������ 5��=>�4��23

1) ������
A����7</7�.9�
=�� �����1	�@�	���0�;
.���1�� �������
A�C��
B�6�8���	���
8�������
�=�A3�12����9��:�
.���1�� 
�= 1 
�A����7�����.
7��/���B�6������
C��9��:� 12�
����@.>�
=���	>��,������5
�F��6���@���B�6����	

2) B�6����	�2����
A�C��
C��9��:�12�
����@.>�=���	>��
�A����7����>���A�,�
���
�F��������6���@ D5	���,�6���
��C��

3) B�6����	���������
��C��12����7A� =���
��7���C��=6��
����<�� �@/
�8����������
��C��12�456����@��7A�
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4) B�6����	
�F��������6���@
����
=�� 
�A��15�1����
��C��\���12�4�>�

����<� �8���� 35 \��� 7�5
����6�	@/ 8.75 ������
��C�� 400 \���

5) B�6����	
�F��������6���@=�����
��C��\���12� 2 D5	�����7���
��.
7��/���
8�
��B@�����	��������/
���7.<0��0�	������
C��9��:�12���/
���D5	 
�9. 12�
����@.>�=���	>��
�������	7��3��23 ���
8�������
�=�A3�12����9��:�
.���1�� 
�= 1

6) B�6����	=���
�����
��C��1�3���5 ,�56��7���C��=6�� 7���

����<� �@/7��C6��=���8���� �@6��8����
��C��1�3���5 4���
7��/��
�A����7>�
C�=�=>�4�

1.5 
C�=�12�,�6,������
7��/���6���@
B�6����	�8��6���@12�456�8�����
7��/��D5	,�6
7�A���7�����
=��� (Micro Computer) ��
7��/��� �6���@

56�	���,�6D������
8�
�F���� SPSS (Statistical Package for The Sciences) for Windows 
�A�� 78���<7>�
C�=��
=>�4��23

1.5.1 �����
7��/��7.<@��:</���B�6=�����
��C�� 56�	���2��� 5���23
1) 
�9 ��
7��/��D5	���������7���C2��@/��7>��6�	@/
2) ��	. ��
7��/��D5	���������7���C2��@/��7>��6�	@/
3) =8����>� ��
7��/��D5	���������7���C2��@/��7>��6�	@/
4) �/5�����9��:�
��
.5 ��
7��/��D5	���������7���C2��@/��7>��6�	@/
5) ��/
����<�56�������������A����
��=�3��=>
�����;���=���6�12�

������ ��
7��/��D5	���������7���C2��@/��7>��6�	@/
1.5.2 ����� 
7��/���6���@,�
>��12� 
�2�	�����-����	56���/����/���7.<0��

���9��:� �-���	56������������@/�/5����/
�1��B@��������/���7.<0�����9��:�=��7���7�5
�F����
B�6������ �@/�����6������/���7.<0�����9��:� 
����5
8�������
�=�A3�12����9��:�
.���1�� 
�= 1 D5	��
7>�
\@2�	�@/
>��
�2�	�
����=�J��

1.5.3 ��7���
���������/��>��=�����=6���A�=���	���<�56�	���
���@/=��
�	���<����=�����=����A�=�����
�<}� D5	,�6
����/
�1��G
�
��������	>���>�	���
�2	��
�� �@/ 15
��7����2�
��	
8�7�K1��
C�=����
����/
�1��G
�
�������5���@>��D5	,�6  t - test

1.5.4 �����
7��/���/5�����
>�B@=>����/
�1��B@�����/���7.<0��0�	��� ���

C��9��:�
����5
8�������
�=�A3�12����9��:�
.���1�� 
�= 1 ���=���	���<�1�3���5D5	,�6�
C�=�� Multiple 
Regression ���1�3�15
���>�=���	���<��
>�B@=>�=�����=������6�	
�2	�,5D5	,�6
C�=�� F-test 15
��7����2�
��	
8�7�K���7>�
����/
�1��G
�
���������.7�<�@/15
���>�=���	���<�� �=>@/=��
>�B@=>�=�����=���	>���2�
��	
8�7�K��A�4�> D5	,�6
C�=� t-test ��6��1�3�78���<��7>�7�12�,�����	���<� 7>�
����/
�1��G=���	���<� 7>�
7���7@�5
7@A���,�����	���<��@/
�6��
�����	���<� ,����7/���5���@/7/�����=�J�� 

1.5.5 76���=���	���<�12�52�>� 
>�B@=>�=�����=������6�	
�2	�,5 D5	,�6���2� ���
��
7��/�� ���C5C�	��.7�<���
����=�����
�����3� (Stepwise Multiple Regression Analysis) ��6��1�3�15
�� 
7����2��	
8�7�K1��
C�=����7>�
����/
�1��G��.7�<D5	,�6
C�=� F (F-test) �@/15
���>�=����	���<�12�52 �=>@/
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=��
>�B@=>�=�����=���	>���2��	
8�7�K��A�4�> D5	,�6
C�=� t-test ���1�3�78���<��7>�7�12�,�����	���<� 7>�

����/
�1��G=���	���<� 7>�7���7@�5
7@A���=���	���<�� �@/
�6��
�����	���<�12�52,����7/���5�� �@/
7/�����=�J��

1.5.6 ��
7��/���6���@12�
����7���7�5
�F��@/�6�

����/
�2�	�������������.� �-���	56��
�/�� ��/���7.<0�����9��:��@/�-���	56����������� D5	���2�����
7��/��
�A3�7��� (Content Analysis) 
�.� 
�@6��8�

��,�
������	�	

��)=#,��������
1. B@���9��:�
�2�	�����-���	
�2�	���������/���7.<0�����9���:�0�	��� +����2 2 �-���	 7A� 

�-���	56���/����/���7.<0�����9��:� �@/�-���	56����������� ���>� ,�0������-���	56���/����/���
7.<0�����9��:� �27���
���/
��	�>,��/5����� ( X  = 3.57 , S.D.= 0.44) �@/��	56�� �27���
���/
��	�>,�
�/5�����1�3� 6 56�� 7A� 1) 56�����9��:��@/���
=�2	���� 2) 56�� �������B���/���7.<0�����9��:� 3) 56�����
�8��B���/���7.<0��4�,�6� 4) 56�����=���
�� �@/1�1�� 7.<0�����9��:� 5) 56�������b���@/������.�
7.<0�����9��:� �@/ 6) 56�����
=�2	� ��������/
��������7���0�	��� 
>���-���	56������������,�0����� 
�27���
���/
��	�>,��/5����� ( X  = 3.67 , S.D.= 0.41) �@/��	56�� �27���
���/
��	�>,��/5����� 4 56�� 
7A� 1) 56�� 0��/B�6�8����B�6������ 2) 56����b�������7���� 3) 56���.7@��� 4) 56�����18����
���12� �@/�2�
7���
���/
��	�>,��/5������@�� 1 56�� 7A� 56������/��<

2. B@���9��:���/
�1��B@�����/���7.<0��0�	��� ���>� ��/
�1��B@,�0����� �	�>,�
�/5����,�6 ( X  = 2.46 , S.D.= 0.25) �@/��	56�� ���>� ��/
�1��B@56��B�6
�2	� �@/56��7�� B�6
�� �	�>,��/5��
��,�6� ( X  = 2.43, 2.43 , S.D.= 0.27, 0.39) 
>����/
�1��B@56��B�6�������	�>,��/5��52 ( X  = 2.52 , S.D.= 0.29) 
 3. B@���9��:�7���
��������/��>���-���	56���/����/���7.<0�����9��:������/
�1��B@
�����/���7.<0��0�	������
C��9��:�,�0����� ���>� �27���
�����������	�>,� �/5��=�8� (r = 0.387) �@/
�-���	56����������������/
�1��B@�����/���7.<0��0�	������
C��9��:�,�0����� ���>� �2�
7���
���������� �	�>,��/5��=�8� (r = 0.253) �	>���2��	
8�7�K1��
C�=�� 12��/5�� 0.05 �@/,���<2�	�=���	���<�
��� 
11 =�� 7A�� �-���	56���/����/���7.<0�����9��:� 6 56�� �@/�-���	56����������� 5 56�� ���>� =���	���<��2�
7���
����������=�����
�<}�,�1����� �	�>,��/5��=�8���� �@/=�8� D5	�27>�=�3��=> 0.132 C�� 0.376 �	>���2�
��	
8�7�K1��
C�=�12��/5�� 0.05 

4. B@���9��:��/5�����
>�B@=>���/
�1��B@�����/���7.<0��0�	������
C��9��:� ���
�-���	56���/����/���7.<0�����9��:� �@/�-���	56����������� ���>� =���	���<� 1�3� 2 =�� �2�/5�����
>�B@

1>���� 0.399 ��A�7�5
����6�	@/ 15.90 �@/��	56�� ���>� 
>�B@=>���/
�1��B@56��B�6
�2	� D5	�2�/5�����
>�B@

1>����� 0.397 ��A�7�5
����6�	@/ 15.70 
>�B@=>���/
�1��B@56��7��B�6
�� D5	�2�/5�����
>�B@
1>���� 0.279 
��A�7�5
����6�	@/ 7.80 �@/
>�B@=>���/
�1��B@56��B�6������ D5	�2�/5�����
>�B@
1>���� 0.303 ��A�7�5
���
�6�	@/ 9.20 ,���<2�	�=���	���<� ���>� =���	���<�1�3���5
>�B@=>���/
�1��B@�����/���7.<0��0�	���
���
C��9��:�
1>���� 0.446 7�5
����6�	@/ 19.90 
>�B@=>���/
�1��B@56��B�6
�2	� D5	�2�/5�����
>�B@
1>���� 
0.455 ��A�7�5
��� �6�	@/ 20.70 
>�B@=>���/
�1��B@56��7��B�6
�� D5	�2�/5�����
>�B@
1>���� 0.344 ��A�7�5
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����6�	@/ 11.80 �@/
>�B@=>���/
�1��B@56��B�6������ D5	�2�/5�����
>�B@
1>���� 0.350 ��A� 7�5
����6�	@/ 
12.20

5. B@���76���=���	���<�12�52 ,�����	���<���/
�1��B@�����/���7.<0��0�	��� ���

C��9��:�,�0����� ���>� =���	���<�12�52 7A� �-���	56���/����/���7.<0�����9��:� �2��8����,����
�	���<��456��6�	@/ 15.00 �@/��	56�� 7A� 56��B�6
�2	� ���>� =���	���<�12�52 7A� �-���	 56���/����/���7.<0��
���9��:��2�8����,�����	���<����/
�1��B@456��6�	@/ 15.70 56��7��B�6
�� ���>� �2=���	���<�12�52 7A� �-���	56��
�/����/���7.<0�����9��:� �2�8����,�����	���<����/
�1��B@456��6�	@/ 7.00 �@/56��B�6������ ���>� =��
�	���<�12�52 7A� �-���	56���/����/���7.<0�����9��:� �@/�-���	56����������� �2�8����,�����	���<��
��/
�1��B@456��6�	@/ 9.20 �	>���2��	
8�7�K1��
C�=� 12��/5�� 0.05 ,���<2�	�=���	���<� ���>� ,�0�����=��
�	���<��12�52� 7A� �-���	56���/����/���7.<0�����9��:�56������8��B������/���7.<0�����9��:�4�,�6 �2�8����
,�����	���<����/
�1��B@�����/���7.<0��0�	������
C��9��:�,�0�����456��6�	@/ 14.10 
�A���	�
��/
�1��B@��	56�� ���>� 56��B�6
�2	� =���	���<�12�52 7A� �-���	56���/����/����7.<0�����9��:�56������8�
�B������/���7.<0�����9��:�4�,�6 �@/56�����
=�2	���������/
������ ��7���0�	��� �2�8����,����
�	���<����/
�1��B@456��6�	@/ 18.10 56��7��B�6
�� =���	���<�12�52 7A� �-���	56���/�� ��/���7.<0��
���9��:�56������8��B������/��� 7.<0�����9��:�4�,�6� �@/�-���	56����������� 56����b�������7���� �2�
�8����,�����	���<����/
�1��B@456��6�	@/ 9.50 �@/56��B�6������ =���	���<�12�52 7A� �-���	56���/����/���
7.<0�����9��:�56�������b���@/������.�7.<0�����
C��9��:� �@/�-���	56�����������56����b����� 
��7���� �2�8����,�����	���<����/
�1��B@456��6�	@/ 9.90 �	>���2��	
8�7�K1��
C�=�12��/5�� 0.05

6. B@���
�6��
�����	���<� ���=���	���<�12�52 5���23
6.1 
�����	���<����/
�1��B@�����/���7.<0��0�	���,�0����� ,����
����

7/�����=�J���@/
����7/���5�� ���=���	���<��12�52� 1 =�� 7A� �-����	56���/����/���7.<0�� ���9��:� �2�

����5���23


����7/�����=�J�� 2Ẑ = 0.387Z����/��


����7/���5�� 2Ŷ = 1.677 + 0.220X����/��

6.2 ��<2�	�=���	���<� ���>� �2=���	���<�12�52 1 =�� 7A� �-���	�/��56������8��B� ���
��/���7.<0�����9��:�4�,�6� �@/
�6��
����7/�����=�J���@/
����7/���5�� 4565���23


����7/�����=�J�� 10Ẑ =  0.376Z,�6�B�


����7/���5�� 10Ŷ =     1.745 + 0.201X,�6�B�

3��(�8���������� 2 :
�������	���  ��1��:�  ��������1�  
�A��� �-���	12�
>�B@=>���/
�1��B@����;���=�������


19��@
�A��
.���1���, 2546.
�������	7��3��23�2��=C.��/
�7� 
��=�J�� ����7���7�5 ���258�
����������	 �@/B@�������	

5����	@/
�2	5=>�4��23
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��3F)=�<��6�*(���������
���9��:�����	
�A��� [�-���	12�
>�B@=>���/
�1��B@����;���=�������
19��@
�A��
.���1��] ,�7��3��23 �2�

��=C.��/
�7�5��=>�4��23 7A�
1. 
�A��9��:��-���	,�����;���=���� ��/�������;���=���� 
0����5@6��0�	,�
19��@ 0��/

B�6�8����B�6������
19��@ �@/��/
�1��B@����;���=�������
19��@
�A��
.���1��
2. 
�A��9��:�C��7���
��������/��>�� �-���	,�����;���=���� ��/�������;���=���� 


0����5@6��0�	,�
19��@ �@/0��/B�6�8����B�6������
19��@ �����/
�1��B@����;���=�������� 
19��@
�A��

.���1��

3. 
�A��9��:��/5�����
>�B@����-���	,�����;���=���� ��/�������;���=����� 
0��
��5@6��0�	,�
19��@ �@/0��/B�6�8����B�6������
19��@ 12��2�=>���/
�1��B@����;���=�������
19��@
�A��

.���1��

4. 
�A��76���=���	���<�12�52� ,�����	���<���/
�1��B@����;���=�������
19��@
�A��

.���1��

5. 
�A��
�6��
�����	���<���/
�1��B@����;���=�������
19��@
�A��
.���1��
���3�I��?���������

1. �-���	,�����;���=���� ��/�������;���=���� 
0����5@6��0�	,�
19��@ �@/0��/
B�6�8����B�6������
19��@ �27���
���������������/
�1��B@����;���=�������
19��@

2. �-���	,�����;���=���� ��/�������;���=���� 
0����5@6��0�	,�
19��@ �@/0��/
B�6�8����B�6������
19��@ �>�����
>�B@=>���/
�1��B@����;���=�������
19��@

3. �-���	,�����;���=���� ��/�������;���=���� 
0����5@6��0�	,�
19��@ �@/0��/
B�6�8����B�6������
19��@ 
����C�	���<���/
�1��B@����;���=�������
19��@456�

4. 
�6��
�����	���<�12�52,����18���	��/
�1��B@����;���=�������
19��@456�
��(0+��6�&?���������
������9��:�
��
���@/�������	12�
�2�	��6�� B�6����	�8���5�������7�5,��������	
�A���

[�-���	12�
>�B@=>���/
�1��B@����;���=�������
19��@
�A��
.���1���] 4�6 5���B�0��12� 7
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3��+=�34�

3��+=�3��

�B�0��12� 7 �
5��������7�5,��������	

���H&B�	�����������
���58�
����������	
������9��:�����@.>�=���	>���8���� 380 7� 456��D5	���
.>�=���	>������@�	

��3�=�� �����/����12���9�	�	�>,�
�=
19��@12��2
�1��G
@A��=�3� 
7�A����A�12�,�6
�F��������6���@ 7A� ���
��C�� �2�
7>�7���
�A������
1>���� 0.96 
�F��������6���@,��>���/��>��
5A�� ���	�	� C�� =.@�7� 2546  �@/58�
������
��
7��/���6���@D5	,�6���2���=>�4��23 7A� ��7>��6�	@/ �����7>�
\@2�	
@�7<�= 
>��
�2�	�
����=�J�� �����
7��/���
���C5C�	��.7�< (Multiple Regression Analysis) �����
7��/�����C5C�	��.7�<�����3�=�� (Stepwise Multiple 
Regression Analysis) ���1�3����������7���C2�������
��C���@�	
��5 �@6�
�.�,�
������	�	

��)=#,��������
B@�������	
�.�4565���23

1. �-���	12�
>�B@=>���/
�1��B@����;���=�������
19��@
�A��
.���1�� �2��/
5F�,����76���
5���23

1. �-���	,�����;���=���� ,�56��
1.1 D7��
�6��
1.2 �.7@���
1.3 �B����
1.4 ����/��<
1.5 
����8���	7���
/5��

2. ��/������58�
������,�56��
 2.1 ����;���=����=���B�
2.2 ���=�5=>�
A��
��
2.3 �����512����
 2.4 ���,�6
17D�D@	2�
2.5 �����64��-K���@/�.�
��7

3. 
0����5@6�� 0�	,�
19��@ ,�56��
3.1 ���	���9,����18����
3.2 ��b�����,���7���

4. 0��/B�6�8����B�6������
19��@

��/
�1��B@�������;���=�������
19��@

�A��
.���1��   ,�56��

1. ����;���=����456
8�
�F�=����=C.��/
�7�
2. 7.<0��������������
19��@
3. 7��������,������/����
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1.1 �-���	,�����;���=�������
19��@
�A��
.���1�� ���>� ,�0������27���
���/
��	�>,�
�/5������@�� 
�A�������<���	56�� ���>� �27���
���/
��	�>,��/5������@�� 1�3� 5 56�� 7A� 56��D7��
�6�� 
56���.7@��� 56���B���� 56������/��< �@/56��
����8���	7���
/5��

1.2 ��/�������;���=�������
19��@
�A��
.���1�� ���>� ,�0������27���
���/
� �	�>,�
�/5������@�� 
�A�������<���	56�� ���>� �27���
���/
��	�>,��/5������@�� 1�3� 5 56�� 7A� 56�����
�;���=����=���B� 56�����=�5=>�
A��
�� 56�������512���� 56�����,�6
17D�D@	2  ,�����;���=���� �@/56��
�����64��-K���@/�.�
��7

1.3 
0����5@6��0�	,�
19��@
�A��
.���1�� ���>� ,�0������27���
���/
��	�>,�
�/5������@�� 
�A�������<���	56�� ���>� �27���
���/
��	�>,��/5������@�� 1�3� 2 56�� 7A� 56�����	���9
,����18���� �@/56����b�����,���7���� 

1.4 0��/B�6�8����B�6������
19��@ ���>� ,�0������2�0��/B�6�8��	�>,��/5�� ����@��

�A�������<���	�6� ���>� �2�0��/B�6�8��	�>,��/5������@�� 1.�
�A���

1.5 ��/
�1��B@����;���=�������
19��@
�A��
.����1�� ���>� ,�0������2��/
�1��B@ ���
�;���=�����	�>,��/5������@�� 
�A�������<�56������;���=����456
8�
�F�=����=C.��/
�7�    56��7.<0�����
���������
19��@ �@/56��7��������,������/�������>� �	�>,��/5������@�� 1�3� 3 56��

2. 7���
��������/��>���-���	12�
>�B@=>���/
�1��B@����;���=�������
19��@
�A��
.���1�� 
��5���23

2.1 �-���	,�����;���=���� ���>� �-���	,�����;���=����,�0������27���
��������,�
1����� �����/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 0.01 �@/,���<2�	�

�����	56�� ���>� �-���	,�����;���=����56��D7��
�6�� 56���.7@��� 56���B���� 56������/��< �@/56��
���
�8���	7���
/5�� �27���
�������,�1����� �����/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K
1��
C�=�12��/5�� 0.01 

2.2 ��/�������;���=���� ���>� ��/�������;���=����,�0������27���
��������,�
1����������/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 0.01 �@/,���<2�	�

�����	56�� ���>� ��/�������;���=����56������;���=����=���B� 56�����=�5=>�
A��
�� 56�������512���� 56�����
,�6
17D�D@	2�,�����;���=���� �@/56�������64��-K���@/�.�
��7   �27���
�������,�1����� ���
��/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 0.01

2.3 
0����5@6��0�	,�
19��@ ���>� 
0����5@6��0�	,�
19��@,�0����� �2�
7���
�������,�1����������/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 
0.01 �@/,���<2�	�
�����	56�� ���>� 
0����5@6��0�	,�
19��@ 56�����	���9,����18���� 56����b�����
,���7���� �2�7���
�������,�1����� �����/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2���	
8�7�K
1��
C�=�12��/5�� 0.01
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2.4 56��0��/B�6�8����B�6������
19��@ ���>� 0��/B�6�8����B�6������
19��@,�0����� �2�
7���
�������,�1����� �����/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 
0.01

3. B@���9��:��/5�����
>�B@���=���	���<��,�0����� +�����/���56�	=���	���<� 4 =�� ���>�
�-���	,�����;���=���� ��/�������;���=���� 
0����5@6��0�	,�
19��@ �@/0��/B�6�8����B�6������
19��@ 

>�B@=>���/
�1��B@����;���=�������
19��@
�A��
.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 0.05 D5	�2�/5�����

>�B@
1>����� 0.741 7�5
����6�	@/ 54.9 ,���<2�	�=���	���<�� +�����/���56�	=���	���<� 13 =�� ���>� �-���	,����
�;���=����56��D7��
�6�� 56���.7@��� 56���B���� 56������/��<  56��
����8���	7���
/5�� ��/������
�;���=�����56������;���=����=���B� 56�����=�5=>�
A��
�� 56�������512���� 56�����,�6
17D�D@	2,����
�;���=���� 56�������64��-K���@/�.�
��7 
0����5@6��0�	,�
19��@56�����	���9,����18���� 56��
��b�����   ,���7���� �@/0��/B�6�8����B�6������
19��@ 
>�B@=>���/
�1��B@����;���=�������
19��@
�A��

.���1�� �	>���2��	
8�7�K1��
C�=�12��/5�� 0.05 �2�/5�����
>�B@
1>���� 0.752 7�5
����6�	@/ 56.5  
 4. B@���76���=���	���<�12�52 ,�����	���<����/
�1��B@����;���=�������
19��@
�A��

.���1�� ��5���23

4.1 B@���76���=���	���<�12�52 ,�����	���<����/
�1��B@����;���=�������
19��@
�A��

.���1��,�0����� ���>� �2=���	���<�12�52 3 =�� 7A� �-���	,�����;���=���� ��/�������;���=���� �@/

0����5@6��0�	,�
19��@ 12�
����C�	���<����/
�1��B@����;���=����        456��	>���2��	
8�7�K1��
C�=�12�
�/5�� 0.05 D5	�2�/5��7���
����C,�����	���<�
1>���� 0.740 7�5
����6�	@/ 54.7 �@/
�6��
�����	���<��
��/
�1��B@����;���=�������
19��@
�A��
.���1�� ���=���	���<��12�52� 4565���23

4.1.1 
����7/�����=�J�� 
���5���23
2Z =   0.339Z1 + 0.251 Z7 + 0.232 Z13

4.1.2 
����7/���5�� 
���5���23
2Y = 0.726 + 0.373 X1 + 0.239 X7 + 0.175 X13

4.2 B@���76���=���	���<�12�52� ,�����	���<����/
�1��B@����;���=�������
19��@
�A��

.���1��,���<2�	�=���	���<�� ���=���	���<�1�3���5 13 =�����>� =���	���<�12�52�2 8 =�� 7A� 
0����5@6��0�	,�

19��@56����b�����,���7���� 56�����	���9,����18���� ��/�������;���=����56�������512���� 56�����
��64��-K���@/�.�
��7 56�����,�6
17D�D@	2,�����;���=���� 56�����=�5=>�
A��
�� 0��/B�6�8����B�6������

19��@ �@/�-���	,�����;���=����56��D7��
�6�� 
����C�	���<���/
�1��B@����;���=��������
19��@
�A��

.���1��456��	>���2��	
8�7�K1��
C�=�12��/5�� 0.05 D5	�2�/5��7���
����C,�����	���<�
1>���� 0.749 7�5
����6�	@/ 
56.0 �@/
�6��
�����	���<����/
�1��B@����;���=�������
19��@
�A��
.���1�����=���	���<��12�52� 4565���23

4.2.1 
����7/�����=�J�� 
����5���23
4Z = 0.089Z2 + 0.090Z9 + 0.168Z10 + 0.111Z11 + 0.158Z12

+  0.128Z14 + 0.253 Z15 + 0.105 Z16
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4.2.2 
����7/���5�� 
���5���23
4Y = 0.746 + 0.067X2 + 0.055X9 + 0.131X10 + 0.070X11 

+ 0.111 X12 + 0.082 X14 + 0.179 X15 + 0.080 X16

3��(�8���������� 3 :
�������	���  
��
5�G  D�����b��� 
�A��� �����b��=�������/
�1��B@����8��D	��	�;����

���
�2	���64��;���=�,�
C��9��:���3��A3�J��0�7=/������
\2	�
��A�, 2547. 
 �������	7��3��23�2��=C.��/
�7� 
��=�J�� ����7���7�5 ���258�
����������	 �@/B@�������	
5����	@/
�2	5=>�4��23

��3F)=�<��6���������
�������	
�A����23456�8���5��=C.��/
�7�
\��/����������	7A� 1) 9��:��/5�������b����7���/���

1������������@/��/
�1��B@����8��D	��	����;�������
�2	���64��;���=��,�
C��9��:���3��A3�J�� �@/
��
7��/��
��2	�
12	��/��>��
C��9��:�12��2���5=>����� 2) 9��:�7���
�������
���
�=.B@ �/��>����7���/���
1����������������/
�1��B@����8��D	��	����;���� ���
�2	���64��;���=��  3)=���
��=�����7���
��������
D7��
�6��
���

6��/��>����7���/���1�� ��������������/
�1��B@����8��D	��	����;�������
�2	���64�
�;���=�� 4) 9��:���1���@1��=�� ��1���@1���6�� �@/��1���@��������7���/���1�����������12��2=>�
��/
�1��B@����8��D	��	 ����;�������
�2	���64��;���=��

���3�I����������
1. 
C��9��:���3��A3�J��,�0�7=/������
\2	�
��A��/�2�/5�������b����7���/��� 1�����

������ �@/��/
�1��B@����8��D	��	����;�������
�2	���64��;���=��	�>,��/5����� �=>�/�2� 7����=�=>�����
7>��
\@2�	�/��>�����5
C��9��:�

2. ��7���/���1����������� �����/
�1��B@����8��D	��	����;�������
�2	���64��;���=�12�

@A����9��:�7��3��23�/�27���
�����������
���
�=.B@�@/,�1�����

3. =�����7���
�������D7��
�6��
���

6��/��>����7���/���1��������������
��/
�1��B@����8��D	��	�;�������
�2	���64��;���=��/�27���
�57@6���@��@A�����6����@
�����/���:��

4. ��7���/���1������������/�2��1���@1��=�� ��1���@1���6�� �@/��1���@���=>�
��/
�1��B@����8��D	��	����;�������
�2	���64��;���=��	�>,��/5��
��

��(06���6�&?���������
���B@�����5

6�1����1���@���=�����0�	����/�� (Exogenous Variable) �@/=����� 0�	,��/�� 

(Endogenous Variable) �����7���/���1������������8���� 10 ��7���/��� +���CA� 
���=�����=6� B�6����	456�
�8�
����7���/�����/
�1��B@,�����;�������
�2	���6 +���CA�
���=�����=�� ,��������	7��3��23���8���5
���=��
���0�	,�=��
.516�	12�456������
>�B@�����7���/���1������������A�� ? 1�3�1��=���@/1���6�� 1�3��23

�A��,�6
����������7�5�������	
���1I:{2 (Theoretical Conceptual Framework) 5���B�0��12� 8
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�B�0��12� 8 ��7���/���1�����������12��2��1���@=>���/
�1��B@����8��D	��	����;�����
���
�2	���64��;���=��

���H&B�	�����������
�������	7��3��23,�6��/
�2	����2���B
� (Mixed Methods) ,����������B
��	>��
���=���@�� �@/=����� 

(Dominant-Less Dominant Designs) �@/,�@��:</12��2���9��:�4���6����� (Parallel) 
�A��=��78�C����A�
��=C.��/
�7��������	
52	���� D5	,�6���9��:�7���
�������D7��
�6��
���

6� +���
�����/
01���������������	

��������< (Quantitative Research) 
���=���@�� �@/���9��:���.���<29��:� (Multi-Case Studied) +���
���
��/
01���������������	
���7.<0�� (Qualitative Research) 
���=����� D5	�6���@12�456���������9��:���.��<29��:�
�/�8�4������	

����6�76�����������
7��/��� �6���@
��������<

��3�=�����258�
����������	 ,���<2���9��:�7���
�������D7��
�6��
���

6�+���
�����/
01��������
�������	
��������<��3� 456�2���������
�2�	������/�����@/�@.>�=���	>�� 
7�A����A��������	 ���
�F�������
�6���@ �@/�����
7��/���6���@�@/�����@7��� 5���237A�

1) ��/�����@/�@.>�=���	>�� �8���5,�6��/�����������	7A� 
C��9��:���3��A3�J��,�0�7
=/������
\2	�
��A� �2�8����  12,733 ��>� ,�6���2���9��:��6���@����@.>�=���	>���8���� 300 ��>� +���7�5
���
�8���� 10 
1>����

6�������
=���12��2�����/��<7>� =�����2������� (Hair, 1998) ���
@A���@.>�=���	>��,�6���2���

.>������>���3�0����	>��4�>
���
�5
>�� D5	,�6
C��9��:�12�
����@.>�=���	>���=>@/���5 7A� ���5,�K>� ���5
�@�� �@/���5
@F��2�8����
1>����7A��@.>�@/ 100 ��>� �@/,�
C��9��:��=>@/��>�456�8���5,�6B�6������

C��9��:�
���B�6,�6�6���@�@�� 
�A������
���B�612�,�6�6���@45652��>��.77@�A��,�
�A���12�18�����	

���������	
���
��	��
�������

����������������
�������������

���������
�����
��� �

������!"��!"�#$�
%&'�����"#'$�

�����(����)�
$�
*���"�+�+��

����,�%&'�������)�
���
�-

�������"�(�.���
$�
*���

��� +'��"�%&'���
/
�����&� �

�����	.�%
#$�
���������������
����&����������&'

0���������


"���,��$ �
 ����#$�
�&�

�1������
���������&'
#$���������������	�������

���������&'

�����'���������&'
/
��$���� �

������
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2) 
7�A����A�12�,�6,����
�F��������6���@�2� 2 ���5 7A� (1) ������1��7/��� ,�6
8����� ���1��
7/���B@���
���@�	�z� (National Test) ��/�8��z���9��:� 2546 +�����5
��D5	��/1��� 9��:������ �2� 4 
��	���� 7A� ����0�:�41	 0�:�����I: 7<�=9�
=�� �@/��1	�9�
=�� (2) ���
��C�� B�6����	456
�6���@/��b��
���
��C���@�	��5�����=����/��<7>�
�A��,�6,����
�F��������6���@ +���
���=�����
��
�=(Observed 
Variables) ���
��C��456������=���
��7���=�� (Validity) D5	7���
�F��>�����B�6
�2�	���K �@/
=���
��7>�7���
12�	�0�	,� (Internal Consistency) ������
��C��1�3�\���4567>�
����/
�1��G��@��
1>����
0.9835

3) �����
7��/���6���@ ,�6�����
7��/��7>�
C�=�=��@8�5����3�=�� 7A� �����
7��/����7���/���

���
8���� (Exploratory Factor Analysis) 
�A����5�@.>���7���/��� �����
7��/����7���/���
���	A�	��
(Confirmatory Factor Analysis) 
�A��=���
��7���=��
���D7��
�6�� (Construct Validity) ���=����� ���
��
7��/��7>�
C�=��A3�J�����/5��7>�
\@2�	 �����/��	 �@/�������������=>@/��7���/��� �����
7��/��
�A��
9��:�7����=�=>����������b����7���/��� 1������������@/��/
�1��B@����8��D	��	����;�������

�2	���64��;���=��/��>��
C��9��:����5=>�����D5	,�6�����
7��/��7����������1��
52	� (One-way 
ANOVA) �����
7��/�����C5C�	��.7�< (Multiple Regression Analysis) 9��:�=���	���<�7����2��/
�1��B@���
�8��D	��	 ����;�������
�2	���64��;���=�� �@/�����
7��/��7���
�������D7��
�6��
���

6� (Path Analysis) 
�/��>����7���/���1�����������,�=����������/
�1��B@����8��D	��	����;�������
�2	���64��;���=�� D5	
,�67�����
=���D������SPSS/FW �.>� 11.00 �@/ D������ LISREL �.>� 8.30


8��������9��:���.��<2� (Multi-Case Studies) +���
�����/
01���������������	
���7.<0�� ,��������	
7��3��23�2�.5�.>����	
�A��,�6456�6���@
���7.<0���������	

�����/���B@���9��:�7��� 
�������D7��
�6��
���

6�
12��������6���@
��������<56�	���
��C�� 
�A��,�6���=��78�C���������	 ��A���=C.��/
�7��������	�27�����5
��
�����3� B�6����	456�8���5
C��9��:�
�y����	
�A��
�����<29��:� �8���� 6 D�� 
���
C��9��:�12�
����@.>�=���	>��,�
���
�F��������6���@
�A���������	 �8����
���
C��9��:����5
@F� 2 ��>� ���5�@�� 2 ��>� �@/���5,�K>� 2 
��>� D5	
C��9��:��=>@/���5 B�6����	,�6���2���
@A�����
��/��=��
�<}�12��8���5 ,�6���2���
��0�:<�
52�	����
@�� (Single-Indepth Interview) ���B�6������
C��9��:� 7��B�6���B�5������������� �@/���
�2	���3���/C�9��:�
�8���� ����� D5	,�6���
��0�:<�12�4�>�2D7��
�6�� (Unstructure Interview) �@/���1�����
��0�:<�56�	�C�
���1��

2	� �@�������3�456�2���C�5
1��@6���
7��/��
�A3��� �@/
�.�B@�������	

#,��������
B@�����
7��/����7���/���
���	A�	�������7���/���1����������� 10 ��7����/��� �@/

��/
�1��B@����8��D	��	����;�������
�2	���64��;���=�� 2 ��7���/��� ���>� �27>�
C�=�12��
5� 7���
�57@6��
�@��@A�����6���@������
��C��52��� D5	�����<�456���7>� 47-
�7��� 4�>�=�=>�� ���9��	��	>���2��	
8�7�K1��

C�=�� 7>�5���2��57����@��@A� (GFI) 7>�5���27����@��@A�12�������6�@6� (AGFI) 
�6�,�@6� 1 �@/�27>�5���2����8�@��

��
\@2�	���
9: +���
���7>�12��6�	��� (
�6�,�@6� 0) �����
5��>���7���/����=>@/=���27���
�57@6���@��@A�
����6���@
�����/���:�� �@/�27���=��
���D7��
�6��
��

B@�������	
�.�4565���23
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1. ��7���/���1��������������
C��9��:���3��A3�J��,�0�7=/������
\2	�
��A��2�/5��
�����b���	�>,��/5����� 9 ��7���/��� D5	
�2	�=��@8�5�����
��
.54���=�8�
.55���23 7A� ���,�60��/B�6�8��@/
������,� ���	�5B�6
�2	�
���
8�7�K �����b��
�����7���������2� ���������b�������7���� ����2
>���>�����
B�6
�2�	��6�� �����/���7.<0��0�	,� ���
�6����������6�@/	������D	��	 �����51���	��������7�����@/
����8���5��=�J������;���=���� 
>����7���/��������5��
17D�D@	212�
���/
��2�����b���	�>,��/5��
����@�� 
8�������/
�1��B@ ����8��D	��	����;�������
�2	���64��;����=�� �	�>,��/5�����1�3� 2 ��7���/���
7A� �I=��������
�2	���6 �@/7��������,�,�������7�� ���B@���9��:�
��2	�
12	� ���>� 
C��9��:���3�
�A3�J��12��2���5�=�=>����� 7A� ���5
@F� ���5�@�� �@/���5,�K>� �2�/5�������b����7���/���1�� ���
������,� 10 ��7���/��� �@/�/5�������b����/
�1��B@����8��D	��	����;�������
�2	���6 4��;���=�� �=�=>��
����	>��4�>�2��	
8�7�K1��
C�=�12� .05 

2. B@�����
7��/���6���@
���7.<0��������9��:���.��<2� ���>� 
C��9��:��=>@/��>� ���
�8���� 6 ��>� �2���58�
������,�1.���7���/���1�����������12��������	�234569���:� D5	�2@��:</12�7@6�	7@��
���,����2���
�6����������6�@/���	������D	��	 ����8���5��=�J������;���=����12�	��4�>
����/����5
��
�����b��
�����7���������2�12��	�>,���3�����>�=����3� �����/���7.<0��0�	,�12�7>���6��
����/��,��z��� ���
,�60��/B�6�8��@/������,����B�6�����������3� ���������b�������7����12�
�6�7.<0����� ����2
>���>�����
B�6
�2�	��6���2�����3� �@/���	�5B�6
�2	�
���
8�7�K12��27����	�	��B@��5��,�6
������� 
>����7���/���1�����
������12�58�
������4567>���6��=>�����4�=�����5 �@/
0����5@6��456��>� �����51���	������
�2	���6 �@/���
��5��
17D�D@	212�
���/
� 
8�������/
�1��B@����8��D	��	����;�������
�2	���64��;���=���3� 
C��9��:�
�=>@/��>� B�6�������27�������,��>����
�2	��2�I=��������
�2	���652��3��	>��=>�
�A��� 7</7��18���������@/���
��,�,����,��/5������� �=>	��4�>�����,�=>��7/���B@���
��������
�2	� �������23B�6������,�
C��9��:�
1�3����5
@F� �@/���5�@��
�F��>� D��
�2	����=�
����C��b���@/��>�������D��
�2	����5,�K>456�

3. B@���9��:�7���
�������
���
�=.B@�/��>����7���/���1����������������/
�1��B@ ����8�
�D	��	����;�������
�2	���64��;���=� �25���23

3.1 ��7���/���1�����������1�3� 10 ��7���/����>�����
>�B@=>��I=��������
�2	���6
456�6�	@/ 50.60 D5	�2��7���/��� ���������b�������7���� ���	�5B�6
�2	�
���
8�7�K �����/���7.<0��
0�	,� �@/�����51���	������
�2	���6 
>�B@�	>���2��	
8�7�K1��
C�=��12� 0.01

3.2 ��7���/���1�����������1�3� 10 ��7���/����>�����
>�B@=>�B@���
�2	���6456
�2	�
�6�	@/  3.5  D5	4�>���>��2��7���/���,512�
>�B@�	>���2��	
8�7�K1��
C�=�12� 0.05

3.3 ��7���/���1�����������1�3� 10 ��7���/����>�����
>�B@=>�7��������,�,����
���7�� 456�6�	@/ 63.60 D5	�2��7���/������������b�������7���� ���	�5B�6
�2	�
���
8�7�K �����/���
7.<0��0�	,� ���,�60��/B�6�8��@/������,� �@/�����51���	������
�2	���6 
>�B@�	>���2��	
8�7�K1��
C�=�12�
0.01

3.4 ��7���/���1�����������1�3� 10 ��7���/����>�����
>�B@=>���/
�1��B@����8�
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�D	��	����;�������
�2	���64��;���=�D5	���456�6�	@/10.80 D5	�2��7���/��������51���	������
�2	���6
�@/���	�5B�6
�2	�
���
8�7�K 
>�B@�	>���2��	
8�7�K1��
C�=�12� 0.01

3.5 B@���9��:���.��<2���>� B�6������ 7</7�� �@/���
�2	� ,�
C��9���:�1.����5 12�
B�6����	456
�6�4�9��:� 	������>���7���/���1�����������1.���7���/���@6���2B@=>�7���
8�
�F� �������;����
���
�2	���61�3�D5	0������@/
�A���8����
�����7���/���	>�	 �@/456�@>��C��7��� 
8�7�K���7��B�6
���>�
���
���,�
8�7�K12�
.5 �2�����5��@>�
�2	���612��@���@�	 �2�1�3�	������>����456���7����>���A�����.���,�������
=>��? 
���
����8�
��� �@/12�
8�7�K�2���/��������7A� 1.�
C��9��:�=>��
�F��>����456������
���
�.�56��
����/��<�6�	=���8������	������
�2	���3� 18�,�6D��
�2	���b�����
�2	���6������
�2	�456	��

4. B@���=���
��=�����7���
�������D7��
�6��
���

6��/��>����7���/���1�� ���������
�����/
�1��B@����8��D	��	����;�������
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����C,����B@�= 2) 7���
����C,������b��
�=7=�1����� 3) 7���
����C,��������=�� 4) 7���
����C
,������6��-K��0�	,�D��
�2	� 5) �����b���.7@��� 6) 7���
���772����.7@��� 7) 7��������,�,�������
�.77@ �@/ 8) ���	���9�@/
�����5@6�����D��
�2	�

2. B@���=���
��7���=��
���D7��
�6�������������/
�1��B@0��/B�6�8����B�6������
12�
>�B@=>���/
�1��B@���D��
�2	��/5����/C�9��:�

2.1 ,�0��������>� 7���
�������D7��
�6��
���

6�=�������/
�1��B@0��/B�6�8����
B�6������12�
>�B@=>���/
�1��B@���D��
�2	� �27����@��@A�����6���@
�����/���:� (χ2 = 5.78, p-value = 0.12 , 
df = 3 , RMSEA = 0.038 , GFI = 1.00 , AGFI = 0.98 , Largest Standardized Residual = 1.64) 
�A�������<�7>���1���@
���12�
>�B@=>���/
�1��B@���D��
�2	����>� ��7���/���56��
C�����<�12�
�2�	��6���27>���1���@���
��
.5 +���
�27>�
1>���� 0.77 D5	�2��1���@1��=��
1>���� 0.50 �@/�2��1���@1���6��
1>���� 0.27 ���@���456���>� ��7����/���
56���I=�����B�6�8� +����27>���1���@
1>���� 0.30 D5	�2
\��/��1���@1��=�� ��7���/���56��7.<@��:</B�6�8� +����2�
7>���1���@
1>���� 0.17 D5	�2
\��/��1���@1���6�� �@/��7���/���56��0����@�� +����27>���1���@
1>���� 0.0017 D5	
�2
\��/��1���@1��=�� 
�A�������<�
����D7��
�6�����>� ��7���/���,�������
����C�����	7>�7����������
�����7���/�����/
�1��B@���D��
�2	�456�6�	@/ 69.00 �@/
����C�����	7�������������=������l�
0�	,��2� 2 =�� 7A� ��7���/���56���I=�����B�6�8� �@/��7���/���56��7.<@��:</B�6�8�456�6�	@/ 79.00 �@/ 
42.00 =��@8�5��

2.2 D��
�2	�12��2��/
�1��B@
�����>� 7���
��������D7��
�6��
���

6�=�������/
�1��B@
0��/B�6�8����B�6������12�
>�B@=>���/
�1��B@���D��
�2	��27����@��@A�����6���@
�����/���:� (χ2 = 6.33 , p-value
= 0.28 , df = 5 , RMSEA = 0.039 , GFI = 0.99 , AGFI = 0.96 , Largest Standardized Residual = 1.66) 
�A�������<�7>�
��1���@���12�
>�B@=>���/
�1��B@���D��
�2	����>� ��7���/���56��
C�����<�12�
�2�	��6���27>���1���@���
��
.5
+����27>�
1>���� 0.48 D5	�2��1���@1��=��
1>���� 0.36 �@/�2��1���@1���6��
1>���� 0.12 ���@���456��> ��7���/���
56���I=�����B�6�8� +����27>���1���@
1>���� 0.16 D5	�2
\��/��1���@1��=�� ��7���/���56��7.<@��:</B�6�8� +���
�27>���1���@
1>���� 0.08 D5	�2
\��/��1���@1��1���6�� 
�A�������<�
����D7��
�6�����>� ��7���/���,�
������
����C�����	7>�7���������������7���/�����/
�1��B@���D��
�2	�456�6�	@/ 42.00 �@/
����C 
�����	7�������������=������l�0�	,��2� 2 =�� 7A� ��7���/���56���I=�����B�6�8� �@/��7���/���
56��7.<@��:</B�6�8�456�6�	@/ 62.00 �@/ 22.00 =��@8�5��
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2.3 D��
�2	�12��2��/
�1��B@=�8����>� 7���
�������D7��
�6��
���

6�=�������/
�1��B@
0��/B�6�8����B�6������12�
>�B@=>���/
�1��B@���D��
�2	��27����@��@A�����6���@
�����/���:� (χ2 = 1.13 , p-value
= 0.77 , df = 3 , RMSEA = 0.00 , GFI = 1.00 , AGFI = 0.99 , Largest Standardized Residual = 0.83) 
�A�������<�
7>���1����@���12�
>�B@=>���/
�1��B@���D��
�2	����>� ��7���/���56��
C�����<�12�
�2�	��6���27>���1���@���
��
.5
+����27>�
1>���� 0.45 D5	�2��1���@1��=��
1>���� 0.35 �@/�2��1���@1���6��
1>���� 0.10 ���@���456��> ��7���/���
56���I=�����B�6�8� +����27>���1���@
1>���� 0.13 D5	�2
\��/��1���@1��=�� ��7���/���56��7.<@��:</B�6�8� +����2�
7>���1���@
1>���� 0.07 D5	�2
\��/��1���@1���6�� �@/��7���/���56��0����@�� +����27>���1���@
1>���� 0.003 D5	
�2�
\��/��1���@1��=�� 
�A�������<�
����D7��
�6�����>� ��7���/���,�������
����C�����	7����������
�����7���/�����/
�1��B@���D��
�2	�456�6�	@/ 57.00 �@/
����C�����	7�������������=������l�0�	,�
�2� 2 =�� 7A� ��7���/���56����I=�����B�6�8� �@/��7���/���56��7.<@��:</B�6�8�456�6�	@/ 71.00 �@/ 26.00 
=��@8�5��

+��'������B�#,��������	
���
��������M==�<�)�3�?
4�
�������	
���
�
������� 
����������	12��2�.5
5>����,���<212��2���9��:�=������@�	=�����

4���6�� ? ��� B@�������	�/�23,�6
�F�7���
��������/��>��=����� ���C��7���
�������
���
�=.B@
�/��>��=�����56�	 5����3����7���8�4�,�6,���/
5F�=>�4��23

1. ���9��:�
�A���8���5�D	��	1�����9��:���A�����;���=���� D5	
\��/���76���
=�����12��2��1���@=>�=�����=�� �@/
����C12��/76���=�������A��-���	12��/18����58�
������=>�� ?

��5��/
�1��B@ �@/��/
�1��0��

2. ���
�6��1I:{2 D5	
\��/���
�6��������7���
��������/��>��=�����=>�� ? ,�1��

���7�9�
=����A���1	�9�
=�� 
�A�������	7���
��������/��>������;���<�=>�� ?

3. ����;���=���� D5	
\��/����;���=�����	>��
����/��12�78����C��7���
����������
��7���/���=>�� ? �@/�����5@8�5��7���
8�7�K�>���@������-���	=>�� ? 
�2�	��6�������/
�1��B@
�@/��/
�1��0��������

���=�<	���6);-����������	
���
��������
�������	
���
�
��������/
����������	12�52 �27.<0����A�4�>��3� D5	1���4��F�����<�


�>�
52	��������������	�A�� ? D5	��������<�456,� 3 ��/
5F�56�	��� 7A�
1. 7.<7>� �@/��/D	�������������	��3� +���7.<7>�����������	��3� �/�����<�,���>12��>� 

�������	
���
�
���������3��/456�6�7�����6,��> ��A��6�76���,��>��A�4�>
�2	�,5 
>����/D	����
�F�/�����<�,���>12��>� �������	�/
����C�8�4���/	.�=�,�6456�����6�	
�2	�,5
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2. 7���
���/
� �@/7���C��=6��=���@���������	 ,���/
5F��23��������<�,� 4 
��/
5F�56�	��� 7A�

2.1 7���=��0�	,� (Internal Validity) ,�
�A����23�/�����<� 3 ��/��� 7A� ��������<�
�>��������	��3�45678�=��=��=���.5�.>����	�������	��A�4�> 78�=��12�456�>�
�A��CA�
�2	�,5 ��/���12�

�� �/�����<��>��������	456�2���7��7.�=������1��+6��456�����6�	
�2	�,5 +����/�����<����
����������������	 ��/���12�
�� 7A� �����<�������
�2	���	����������	 +���456��> 7���
�57@6��
=6�����=�3��=>�112� 1 C���1
.516�	 ���1�3���7���/����A�� ? ����������	56�	

2.2 7���=��0�	��� (External Validity) �/�����<�,���/
5F��12��>� �������	�/456�
�6�7�����612��/�8�4�,�6��/D	�����6������
�2	�,5 �@/�@.>�=���	>��
���=���1�12�52�����/����
��A�4�> 
�2	�,5

2.3 7���
���/
�������
@A��,�6
C�=� 
�A�������
7��/���6���@ (Statistical Validity)
+����F�����<��>��������	456
@A��,�6
C�=�
���/
� C��=6����A�4�> 
�2	�,5

2.4 7���=��
���D7��
�6�� (Construct Validity) +���
�����������<��>� �������	�23
456������
�2�	���������5=����� 1�3�=�����=6��@/=�����=��456C��=6��
���/
�
�2	�,5 +���,�
��/
5F��23 ���	C�� ����2
7�A����A�����	12��27.<0�� �@/��/������
�F��������6���@12�
���/
�
����
��

3. B�618�����	 ,���/
5F��23�/�����<�,���>7�����6 7���
����C���B�618�����	�>� B�6����	
���
B�612��27�����6 7���
����C  �2��/
����<� �@/�2�.b����9��:�12�=����A�
�2�	��6�����
�A���12�18�
�2	�,5
+���C6�����������	5���@>�� B�618������	
���B�612��2��/
����<� �27.<�.b�12�
�2�	��6����A��.b����9��:�=�����

���12�18�����	 �F
����-���	
>�

���12��/�>�	,�6�������	�27.<0��456�

0'��)=
�������	
���
�
������� 
����������	12�9��:�7���
��������/��>��=�����=�3��=> 2 =����3�4�

+���
>��,�K>��	�9��:��@�	=����� D5	
\��/���9��:�,����������7���
�������
���
�=.B@ 18�,�6�
�������	
���
�
��������2�.5
5>� 
����C�����	����;���<�=>�� ? 456�	>��
�
�=.
�B@ �������	 

����C�8�4�,�6,�����8���5�D	��	 �@/�.5
�6�=>�� ? ,����18����456
����	>��52 �������	
���

�
����������456�������	��������,��-��.���
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